j &
1 i
-
o Function 1%t Derivative/Critical | Intervals of 2" Derivative/ Concavity i
{ #'s increasing/decreasing | Possible POI
x*=3x+1
| i
, y=2x*-4x?+1
|
{
{
f y =xe* :
=
y=-2x>+6x*-3
Lu-
&
g -
F = 1
x-1 S
y =sinx+cosx k-

Scanned by CamScanner



Scanned by CamScanner



N I
s ) =
-
'
~)
L ANy e
— —
e i ]
~
A — —
i e L
—
N A

‘D Szv\e

F00= KereD+e”

A ®~
= xe + Ae

o (x+2)=0
M= — o~

{ _— I e
_:/;I e —ﬁ———---—‘——“y—r_——_‘i__. /
:,{} o e

—_— S—
- >
Vs e
‘:_/:, /I\) "m> ’[—;

L@\(O{)

L

X

cen: (~a, )

Scanned by CamScanner

B




RISl - > YRR
y'= —box"+jox =0 = ey
—(ex(x-4) =0 X B e
e ® Tnc (C)‘,a
| v Bl R Deel (- 10) (2
W % _\”- 7 m : "‘-_t \"
— N x=) =0 f/’,@-\/ L S,
W o | w0 -~
| X [
‘ CQA (HPQJ )
|
| (0) 3 = X
= N T ik
", 7 <L -
ﬂ = '.X-D-—X-L;) X (
(=15

/ ‘. % Lnc » Nnone
fo A TS

> _ ' r N Q\‘G‘*) —__,.. +

<<’ AWM+WMMMMWMW;/

X

|
5 co™ (1, %)
6{*’ﬂ) ,X=f C,C,d/; (?'DQ/{>

Scanned by CamScanner



7) B* SinX + coSX

% CosSX — f" Tad &= O
72l C B3R = glf\x
e G ey
2 * ¥ . 95

@%':&OX—SK‘]L
\j”‘ (POx*—0x> =0 *

A0x*(3 = x) =L
KX=0;3

B e —————— T IR

Scanned by CamScanner



e g: X
oL~
W
- i} ’ = /
7 J o alx
(B

r S =
c; l{;:w - ;
\ |
X = (IU Jj '.
t
:'\- {f‘/ N ! . — {
- N e | & | ] - =
A TLR)E g e g T = s
57 i ') ; o
| I e D+ - -
; \ — ' L = T [
C X )=57 X ; o %

'
L) =4

@ Y= K4 3t 3‘-‘= ox+0=0
51;%&9# (o (x+D=0

- ]
@ D= 2D R

=
{1(-)=3-6=-3 f .
F(-D= | +4+2=4
g IR 3 (K +1)
%, b= "'87("3
B = —Ax+ |

Scanned by CamScanner



[7d A

|
\9/\ L= vy - %:( A ’X’TF%_: ‘
L= 3x%-x=0 T%;&\Bi:ig"
@ f,x 1, ""“"9\:1 =0 ot ey
X =0, . g

{0‘28

7)1%%-%) (x é)*
= (x4 (400D 4 (=D (9(x~»A)> =i
@\5 U‘"’D (x=2) ( ed + 5(x=3D) =

x+© +5x =I5
Wk & C (Ax=7)

Scanned by CamScanner



Scanned by CamScanner



